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1. Choose and fill in' each blank with the proper one

of the prepositions given below, (¢.5 mark each)

(t‘,ﬁ‘, at, instead of, f‘;c//m’. o with, on, aglpig, be}vﬂh, beﬁise
,ﬂ. abfit, 1dr, ipho, with regazd to, aven

1,
2,
3.
4.

10,

The findings are far ;ﬁm satisfactory,

‘We shall divide the work us research workers.

The rainy season in that country varies Bedwegsy 3—4 months,
They have never heard !f such an inveatipn,

We must pay attention _ # the latest development of
the situation.

The newly-installed control computer will soon he pubibk
use, .

The news which 1 am going to tell you _ abswd is rather
serious.

The enginetr seemed to know what the sign stood jﬁ‘ L4 .
The machine too] weat out of control mishandling.
Don’t be satisfied _Eﬁﬁ_ what you have zchieved.

I. Fill in each blank With the proper form of the

4.

5.

verb in bracket.'(l mark each except the seventh
which is 2)
Those who'd like to visit the exhibition __g«'qn  (signy
your aames here, )
A great number of small power stations ae u.a‘“.r(set up) i
their county since liberation,
He asked me whether my brother . iy} to Beijiog.,
He foll asleep immediately [ast night, he must hawe hasgber
very tired, '
“Have you moved into the new {laty »



8.

T.

8,
9.

1.

2.

3,
4.
5.

8.
9.
10,

“Not vet, The rooms @t M’(*aint).”

The director recommended that she Shewd sh dy) more
English befere going abroad,
The teacher told them since light Fyawelg  (iravel) faster

than sound, lightning _G-f}&t_{} {appear) to go before thundes,
How long Jn{ they o’w (digy the ditchy

He refused to tell us whether he had Cundertake) the
job, lmde,f"’q*&n .
Fill in each blank with the proper verbal form
(infinitive, participle and gerund) of the verb in

bracket., (1.5 mark each)

Matter is the name (give) to everything which has
weight and occupies space,

1 shall gever forget (meet) late Premier Zhou duting

his inspection of our factory.

I wonder if he could get it _ (do) before tomorrow,
NigBt
A beam of light will not bend round corners unless _ _
(make) to do so with the help of a reflecting device,

We werte busy. (get) things ready for the trial produc-
tion whea he phoned us, "

¢fall), we hurried home.

Some molecules are large enough ) (see) under the
elegtronic microscope,
The floor does rot look so bad when (sweep) clean,
___tfail) several times, they need some encouragement.
(eatch) in th-e rajn, he was wet to the skin.

W. Choose and circle the one among the 4 answers given

1,

(A, B, C, D) which bast completes the sentence.
(1 mark each) For example;

He me that he decided tu leave on Monday. _
A, spoke B. said C, talked (D) told
This test a number of multiple choice questions,

o2e



3,

9.

14,

A, composes of B, composes io

C. consists of D. consists io

She writes as as her sister,

A, clear B. mozse clear

C. clearly D. most ¢learly

[ prefer this diagram that oge, .
A, than B, more than

C, rather than D. to

E have been studying here for four years, by next summer [

A, shall graduate B, shall be graduated

C, shall be graduating D. shall have graduated
Hardly had he fivished his specch the audience
started cheering.

A and B, when-

C. than D, as

I wish you ____ __ like that.

A, don't talk B. won't talk

C. wouldo't talk D. not to talk

Oaly when you have obtained sufficient data _ _ __ come
to a sound conclusion.

A, can you B. would you

C, you will D. you can

Yfound _ __  _ to asswer all the quesiions within the time
given. . :

A. 1o possibility B. there was impossibility

., impossible D, it impossible

You _ .. go now, It's getting late.

A. contracts B, reduces

€. condenses D. conpresses

Hot metal —_ s it grows cooler,

A, contracts B, reduces

C, condenses D. compresses

a3



1l.

12,

13,

14.

15

¥ . Identify and circle the e¢ne among the 4 underlined

1.

2.

3.

Woop does not conduct electricity; .

A. so doesn’t rubber B. also doesn’t rubber

C, nor does rubber D. nor rubber does

Comrade Lj be in Beijing becauss I saw him in town
only a few minutes ago,

A, mustn’t B. can’t
.C. may not D, isn’t able to

I know it isn’t important but I can’t help about .
A, but to think B. thinking

C. think D. to think

The more we looked at the picture, .

A, the less we liked it B. we Iike it less

C. better we liked it D. it looked better

Ta succeed in a scientific research project .

A. one needs to be persistent
B. persistence is needed
C. ooe needs be a persistent person

D, persistence is what one needs

parts (A, B, C, D) which is wrong, (1 mark each)

For axample,
It is very kind of youto supply me withﬂ maay iof ormations.
- T &

[i%]
Never before has so many people in our country been interested
A B [ D

_ia athletic sports.

Those of us who wark in that chemical plant should have their
A B C D

lyngs X-rayed.

After the traffic accident he laid in bed for two weeks, waiting
A B

dor his wound to heal.
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4. We advice him to give up smoking and do & lot of exercise.

A B C D
5, The principal reason for the great number of smoke is that
A
there are too many factories in the city.
T D

. Transiate the following into English. (3 marks each
except the first which is 2)
1, H-RGHTWMFLERN,
2o AR, REARNE LR KB R WEG
3, RNIGEEEAEZEHEHMHRE,
1. HrERERNMBaNyes.
5. EIETEN, ERAREEREFABERT RREIH,
. RNERFEIFIT I REFEHERAN—HIR,
T BAROES, REMELE ARRLLRTHERN.,
VI. Translate the following passage into Chinese, (30
marks)

Between now and the end of the century, thete will be many
exciting developments snd also meny difficult problems to deaf
with, Parhaps the most urgent problem is to provide enough food.
The world’s pepulation is expected to reach 7,000 million by the
year 2600, but alceady scientists have produced new and better varieties
of wheat and rice and animal, They have also been experimenting
with techniques of cultivating plants by using mixtures of chemical
compounds and water only, and then there will be no need for
ordinary soil. Another problem which the world will face is to get
rid of refuse (BE#). One solution is to burn refuse at very high
temperatures in incinerators (3%{k#), A development of this, which
may prove very useful in the future, is to use these incimerators
to generate stesm power. [n fact, any new source of energy will
be very wel come, as there is already 2 shortage of petroleum.
To sclve the snergy problem, scientists will probably also try to

make more use of solar energy. ®

G



V.

The possible effects of some scientific fields, such as lasers
and crycgenics (K4}, are difficult to imagine and both already
have anumber of uses, The super-cooling effects of the cryogenics
which convert liquid helium (E#HF) and otker gases imto “super-
-fluids? and metals into “superconductors” , making them non-resis-
tant to electricity, could change the world in a number of ways.
The laser, with its beam of strong light, ¢an drill a hele in a
diamond, aad yet can be so well controlled that it can be used in
delicate eye operatjons, The gquestior is whether it will be most
used for peaceful purposes or 2s a deadly weapon,

But perhaps the most remarkable developments will occur in
space {light, One of the difficulties in the past has been the high cost,
but now the space shuttle is being developed, and can be used a
large number of times instead of only once, Already man has been
to the moon. Perhaps by the end of the century he will have had
a close-up view of Venus (£8) or Mars (KB} .

ANSWER KEY
1. from ¢, among 3, betweezx 4. of 5, fo
8. to/inte 7. ahout 8. for 9, hecause of 10. with
1, sign 2, have been set up 3, had flown
4. have been 5, are being painted 5. study
7. travels, appears 8. have---been digging 8. would undertake
1. given 2, meeting 3. done 4. falling
5. made 8, gefting 7. to be seen 8. swept

9, Having failed

1, C 2. C 3, D i. D 5. B 8, C 7. A
8. D 9. C 10, A 1, 12. B 13, B 4. A
5. A

1. A 2. D % B 4 A 5. B

O

W. 1. Please turn off the switch {switch off) as soon as the water

boils,

2. The Chinese people will f@rge ahead (march on, march onward,

o~



march forward) with greater strides in the 1980's.

5, We all agree to the decision Comrade Li has made (made).

4. The result is much (far) better than we expecied,

5. Tiuring the past three years a lot ¢of work) has been done in
the recovery (restoration) of our natioﬁal ecenomy. {in recov-
ering our nstiona! economy, in restoring our national econ-
oy},

6, We use Eaglish as a too! i learning Western advanced sciegce
and technology.

7. [t is impossible to accomplish Ccarry out, fullil, materialize)
the socialist modernization of our country (our socialist med-
erpization) without the Icadership of the Party.

M. (EHixs

KBER B AR, WHTF&ANRTHER, AECHFEETET R,
wiERATENNAEER BRSH R, H000E, RRATEESSHE LR,
BEHERNESFFHESAE. BEMEENHAKRR N, AIEEARER
RAEA ARG RANE EEFIGER, FERARE—RGLBT. ERNE
W 5 — R HES . ~RRHRN L EREREPEREREEPRE. B
BhHERE—- SRR, B %% EPRMEENRT, WESERXEB T
Ay, %k, SWHnEERE R EES RN, BAFHCENNER,
B AR, R e & o R P R, .

FEMAFOE, MPELARBSFTSE>ENENAE LERN, SHI %
REREARESBRATEA. KBEOSHAHEETREFESETR MK
. BREERER “ERE” , BRNREWE, WIWW L Ry TRl
RER, Sk, HEEAMERTESRE LS, B0 LB ain sEg %5
BHARMTFR, RELECEEAENTREN AR R, SRS OMRE,

HRHANER L AAET T VAT, 2E0ER2 ~ETRNKK.
BREGRCHMEELR, ZALAXCNTLEAEZSTFRE I —RRBEET .,
ABRESS A AR, AHAXMERABHEERLRET — - HAHRNE,

*Te
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I. In each question, decide of the five choices givan
e sentence, Circle

would most suitably complete th
the letter before your choice,
to be marked. (14 points)

EXAMPLE;

The guests said that they wouldn't mind

1.

2.,

3.

A, to have a Httle light music

¢B.> having & little light music

C. ‘heve a little light music

By, if ihey have a little light music
E. that they have o fittle light music
She has been working in this factory
A, aflter 1968 B. iz 1988

D, for 1963 E. until 1568
We can’t undesstand why he avoided
A. to spesk B. speech

D. speaking E. to have spoken
I am interested in

A, which B. all that
D. that E. evergthing of which

1t is because she is too laexperieaced -

know how to deal with the situation,
A, so B. that T C.
D. therefore E. that is why

He was afraid ke would have io

the party.

A. refute B. refuse c.

D. ignore E., decline

Only

C. s

C

C.

one choice is

ince 1968

1o us.

. having spoken

you have told me.

ali what

she does not

so that

retfurn

her invitation to



£0,

i1,

12,

18,

She wanls to kno'w whether the measures bave been agreed .
A. to B. with ¢, about

D. upon E, over

Since she is angry, we _ .

A. had better leaving ber alone

8. should leave her alone

C, might as well leave her alone

D, had rather leave her aloae

E. must leave ker alone

Twish]l _ to the movies with you last night,

A, weat B. did go C. cosld go
D, have gore E. could have gose

Scarcely had they settled themselves im their seats in the

theatre __ ___ __ the cartain weal up.

A, than B, when C. before
I3, as soon as E, as

Write clearly __ _ __ _ your teacher ¢an vederstand you cor-
rectly.

A. sinee B. for C. because

P. so that E, thea

If the doctor had heen available, the shild .
A, would not die * B. wocld not have died
C. could not die D. could not have died
E. should mot have died

17d just as soon rudely to her.

A. that you won’t speak  B. your not speskiag

C. you not speak D. you hada’t spoken

E. you didn’t speak

Tez years had ¢lapsed. T found she had .
A. a little white hair B. some white lhair

C. much white hair D, a few white hair
E. 2 few white hairs ’



14,
4. oeeds repairing
B. requires to be repaired
C. should be in repair
D, has to be repairable
E. must repair
1. Each question consists of a sentence with five un-
derlined part {words or phrases), These parts are
labelted A, B, C, D and E, Choose the part of the
sentence that is incorrect and circle the letter of
your choice. Only one choice is to be marked, (3
points) - )
EXAMPLE:
We did the research as good as we could; however, it did not
A (By C D
turn out to be satisfactory.
E
1. The president of the caollege, together with the deans,ai
A B
plaaning 2 conference foy the purpose of laving down certaiz
D E
regulations, .
2, In order to coaviece the director to agree with their plan, they
B
brought forth a namber of reports which supported their
[ ' E
argumesnt,
3, His methoo‘.gf doing research work is hardly appreciated; he
A B C
feels inferior than others.
D E
4, A series of dshates between the lecturers were scheduled for
A B C D

The electric shaver _ hefore it can be used,

1.



the next weekend.

E
5. The autemobile industry is masufacturing a new type of &
A E
motor that will consume less gasoline and cause pollution,
. D E
8. When his platie arrives on the airport in- Shaaghai, I shsll
I —c - 7T

already have left for Beijing.
E

7. The industrial tread 35 in the direction of more machines and

TABC D
"!_e'é_speople.
E
8. The workers were already to work long before he arrived.
A B C D E

E. Combine the given words and phrases into sen-
tences, (4 points)
Example,
his sons/he/their grandmother/to see/just before his last birthdny/
take
Just before his last birthday he took his soms to see their grand-
mother.
1. last month/in Europe/travel/she/since
2. the decision/as final/frankly/should/not consider
8, to the stranger talk/there/stand/a while/ago/he
4. this kind of/ean/get used to/I/never/food/eat
. Fill in each blank with the appropriate form of the

verb given in parentheses. (14 points)

EXAMPLES,
«Those,” he said, (point) to the books (pile)
on the desk, # (need) over there now.”

«Those, * he said, pointing to the books piled on the desk, “are

ticeded over there now,”

«1]=



Thousands of years ___ ___ (pass) since‘then; but people stilf

¢like) (telld the story of Leopidas and the -

brave three hundred who (dedicate) their iives to their

country.

Thousands of years kove passed since then, but people still like

to tell the story of Leeonidas and the brave three hupdred who

dedicated their lives to their country.

1.
2.

L1

@

B,
Ta
£,
9,
10,

i1,

The public demanded that the prices, __  __ (reduce).
With the guide (lead) the way, we set off aa foot
into the dark night. .
[ need that book -badly. If you go to the bookshop this aftec-
noon, please remember _ ____ (buy) a copy for me.
(arrive) home at daybreak, he felt dead tired, He

. (work) all might,

L. (exhaust) by his work, he lay down on the bed to
take a rest,

We’ll have toltake a roundabout course, For the road
(repsir) . .
No decision (make) about that matter yet, We _
_ __(still consider) it,

. __tmeet) Tom earlier”today, I don’t need to see him
again.

If you (go) oa at the present rate, you _. (use}
up all the petroleum by the end of the month,

The building is said (destroy) in a fite two years
ago.

Thezar ._{go) at the present speed until it reaches the

foot of the mountain at about ten o’clock tonight.

V. Fill in the blanks with proper words, (10 peints)

In recent years television has become the most popular form of

entertainment. [t does not look as if it will be popular

in the world of the future. Tn fact, it looks as if television will

become more popular thar ever, New systems of television have

- 12+



beea made possible the discovery of the laser. A laser
is & beam of light that has many sirange qualities. By using a
laser, it is possible to throw very large and very clear television
pictures on ______ _ a screes. These pictures may. be as large as
three metres three metres, Many people could watch
this kind of, television together.

Laser beams have also made very thin television sets_ .
These sets can he hung on the watl of a room like a large picture.
Asnotber development in the future will be three dimensional
television, the piclare will look more “real” it will
bave depth as well as height and length.

In the near future you will be able to buy your favaurite
television programmes already on tapes, They will be
like the tapes ars used in small cassette tape recorders
today, You will also be able to record television programmes and
play them
possible.

Y. Translate the following into English, (10 points)

1. ﬁNﬁﬂﬂikﬂ#ik.

2. BRISCRASHRERDFRENES =T,

3, MN—Hik#AAE,

4. FHEAWABRERN, BEEHAEDL,

b, REMHHSFIARLLE-ARNEABIZRNES,

¥i. Choose one of the following three passages and

transtate it into Chinese. (40 points)

later, The laser beam will make

e —

1

The United Kingdom is a monarchical (R2:itika) state. It
is one of the independent members of the Commoawealth (the
Queen is recognized as head of the Commonweslth), aed a
wember of the European Community.

The origins and traditions of the United Klngd::un are to be

0 13e



fonnd in each of the four parts that make up the country. Esngland,
‘Wales, Scotland and Northern Ireland, England was united as a
kingdom a thousand years age, and Wales became part of the
kingdom during the middie ages, The thrones (Efi) of England
and Scotland were united in 1603, and in 1707 legisiation passed
iz the two countries provided for the establishment of a single
Partiament of -Great Britain with supreme authority both in England
and Wales and ix Scotlazd. Ireland had had links with the kizgdom
of England since the thirteenth century, and in 1808 the creation
of the United Kingdom was completed-by a union joining the
Irish Parliamesat to that of Great Britain. In 1822 Southern Ireland
(zow the [rish Republic) became a self-governing cowatry. The
six countfes of Northern Ireland had in 2920 been given their own
subordinate Parliament, and voted to remain within the United
Kizgdom., ' ’

The United Kingdom Parliament at Westminstef in London—
with an elected chamber comprising members from English Seot-
tish, Welsk and Northern Ireland constituencies(:&E) ——therefore
represents people sharing very varied hackgrounds and traditions.
It has ultimate auwthority for government and law-making, but
adminjstrative arrangements' have developed in such & way as to
tzke account of the particular needs of differest arcas.

England and Wales on the one hand and Scotlazd on the other
have different systems of law, different court systems, different
education systems, different systems of local geversment and for

most domestic matters, different goverament departments.

2

As more people live closer togeiher, and as they use machines
to produce leisure, they find that their leisure, and even their
working hours, become spoilt by a hy-product of their maghines
—namely, noise, Noise is nowadays in the news; it has acquired

political status, and public opinion is demanding, more and more

«14-



insistently, that something be done about it,

To control noise is to demand much self-discipline (annoyance
arises often from lack of common courtesy), a sense of propertion
(there is usually a conflict of interesi if 2 noise is to be stepped),
the expenditure of mouey (and it is far more economical to do this
early rather than late), and, finally, technical knowledge.

Techunical difficulties often arise from the subjective-objective
nature of the problem. You can define “the excessive speed of a
motor-car in terms of & pointer reading on & speedometer, But can
you define excossive noise in the same way? You find thatewith
any existing simple “poisemeter” , vehicles which are judged to be
equally noisy may show considerable difference on the meter.

Though the ideal cure for noise is to stop it at its source,
this may in many cases be impossible, The next remedy is to absoerb
it on its way to the ear.

Domestic noises may perhaps be controlled by forethought and
courtesy, and industrial noises by good planning and techaical
improvement, But if we are going te allow fast motorcycles and
beqvy diesel lorries to pass coutinuously through residential and
business districts, the community must decide on the goatrol it
needs to exercise, for in the long rue it has got to pay for it.
And if a nation is to take partin moders air transport, it must
enter icto international agreements om the noise coantrol measures
it will impose at its airports——and here the cost of aay real con-

trol is to be measured in millions of dellars,

3

Abaut 350 years ago Galileo made a telescope and [ooked
through if at the sun, What he saw hoth surprised and frightened
him, for he saw dack spots on the sun which at once suggested to
him that God had oot made the world quite as perfect as he had
previously believed. He hesitated to make his discovery knows.

Meanwhile other scientists noticed the same lack of solar perfec~

w15



tion and proclaimed (EHi) the fact,

But Galileo continned his observations sand was soon rewarded
with another discovery. Fixing his attention on a single sunspot
(AWM =FY gronp, he noticed that in & few days it had moved in
position, inst as if the sup itse[f were turning., Afterwards he
found a’ sunspot group which lved long enough to disappear from
view on the western limb (G1#) of the sun, to re-appear on its
castern Jimb, and finally to regainm its old pesition. This led him
to con¢lude that the sun itself was rotaiing and that the time it
%ok to make one complete turn was about twenty-five to twenty-
seven days. Actuslly we kaow from the drawings which Galileo
mede of sunspots that there must have been quite a Jot of them at
the ¢ime of his observations in the years ¥11 and 1812, If he had
gone on making his drawings in the years that immediately {ol-
[owed, we know that he would almost certninly have poticed that
sunspots were becoming fewer aad smaller. But he became interested
in other things and so he failed to recognize thet there is a kind
of loag-term cycle in sunspot activity, the sumspots increasing and
decreasing as the years go oa. Later this discovery of the sunspot
activity was made 7by one of the most patient observers in the
history of sciexce, a German chemist, Charles Sch;rabe.

ANSWER KEY
1. C - 2. D 3. B 5. B 5. E 6. D 7. C
. E 9. B 0. D 11, B 12, B 13. E 14. A
1. C 2. B 3 E 4 C 5. C 6. B 7. E
B

1. She has been travelling in furope since last menth,

2. Frankly, the decision should not be considered as final,

%, He stood there talking to the stranger a while ago. / Standing
there, he talked to the stranger a while ago.

4. 1 can never get used to eating this kind of feod.

1. be reduced

v16s



